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void while-st(){
int labl, lab2;
if(tok = SLPAREN) error(* “(° Expected");
tok = O ;
labl = get-inlabel();
gen-code('@", ®);
expQ):
lab2 = get-inlabel();
gen-code(** TST.W RO™); // check accumulator RO
gen-code(" BEQ @, ®); // Exit if not true
if(tok = SRPAREN) error(*" ")" Expected);
tok = scan();
st(lab2, labl) ;
gen-code(" BRA @', ®); // Go back to loop top
gen-code("®", M); //Exit point
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[1] kD =— RiF, HRED C OV T a 31 5O while XONEES TH D, D~
GO&Y 72 DA > Tl EE X, 728 while XD T 'while (exp) st' T. exp I
L st 1T X (statement) & R T HHKIRL 5 TH D,

void while-st(){
int labl, lab2;

if(tok = SLPAREN) error(" "(" Expected™);

tok = O scan(Q) ;

labl = get-inlabel();

gen-code("@L%d:"", ®labl);

expQ);

lab2 = get-inlabel();

gen-code(*" TST.W RO"™); // check accumulator RO

gen-code("* BEQ @L%d", ®lab2); // Exit if not true

if(tok = SRPAREN) error(" ")" Expected);

tok = scan();

st(lab2, labl)

gen-code("* BRA @L%d", ®labl); // Go back to loop
top

gen-code("@L%d: ", @Wlab2); //Exit point
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